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No epsilon-delta on the test. The final's already out there.

I'd be fine adding a bonus epsilon-delta that you can bring with you on your cheat sheet.

Prove hat }.‘_ (\l'i-fsu—'!,) = -y = L

v-=3
Sercteh A { S l
- (v - ) osx ral = [(x=2) O
P R N i oo

43

LG vl wad £ ¢
G\.IJ' « bou—oJJ o~ l\("‘" T vie :v\'l'7 IOL\ ‘L;B

(x,g\l..% — \1’—{_?’
- \-
> =S ¢ x=-3 Lg a
.J‘s‘f—-‘ d _sk,cx-‘bd-g“" =
|- 3 4143 2 d
—S‘?’ o_ - )4 L%‘L% >



240501 -notes.notebook

Se,
g3 4 ¥4 L
= ) -2l «2-
~5 4 * o+
a4 4 ¥ £ s
- w4
W
—
é\x_zlé'ls- 2, ? ’2
R e e
Le
l‘;"-gsﬂrl— (—'-(3! = I\L\—S\-\‘(nl = lz—?“)""”[

123 225 =€

S _,.,,;..?‘/ %—g

Z w3\

May 06, 2024



240501-notes.notebook May 06, 2024

Cey=y=sxe2 =3 _y=L

f -
= o D—'-'C"""f S"’"‘""%"/%/Z' Thon "D

Let €»0 be o¢ . k
= e+ (7
e G .

\ M—b’% lygl\u—'btqu._'sl Z1S 4 '.1(

’ L=
S & u.¢sl'7"- L. K‘(

elN\

\

)
)

-~

v



240501-notes.notebook May 06, 2024

= 1) _
Co)= XSy = -v=L

\ £ - L\ :\x"/S"‘-FZ' (—‘-&)l = (y.1f—§'¢4—6} N lx-j“,‘-a,[ Cﬁ

waw\J -
N..m.cJ bowo‘ ot \\b-"’\

)
\«x-3\ < G & 5
— 0¢ o \
= AL A\
o= 2 0-4“"”"0‘
= el L %
?MC L€ 20 be 7\»«..(\3,_£M< Q—. w\‘m{\,z
e
Tha \-Céﬂz\._l:u\—: \xf?l\xf')’(
£ ArEISR T

252 =29 t2.5= ¢4



240501 -notes.notebook

l<7—.‘f

,\(-(’%ﬁl —/{\L-"”
=

\¢

See Tuesday's video/notes from after class. Logarithmic Differentiation.
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